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Math 1200 Zxam 3B (Fall 2014) Name:

Show all your work in order to get full/partial credit. Each question (or sub-question) is worth 5 points.
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1. Write the equation of the line passing through (4, - 6) with slope m = 3.

Jt 6=3(n-4¢) = >—\2. lms,

Mtb= 2\ =22 —\%
Y= 2A—12-6=2%x —\8
2. Determine if the lines y = %x -1 and 4y = - 3x + 20 are parallel, perpendicular, or neither. Show work.
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3. A sales person makes a base salary of $400 per week plus 12% commission on sales.
Write a linear function to model the sales person’s weekly salary S(x) for x dollars in sales.

SO)= 000 4 125 ¢ = 00+ 0-\2 >
4. Forg(x)=J/x-3 -2,

a. Describe the sequence of transformations from the parent function f(x) to g(x).
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b. Graph g(x). | | x /’ﬁ
N

5. Given h(x) = 4x° - 2x, a. find h(-x) = ¢} (45)3,1&7() b. find - h(x) - — ( 4%3“ ix)
=~ Ux>tan - Uot4ao-
c. Is this function even or odd? Show your work.

hWi-= - he)
W s 644

3. Graph f(x) if f{x) is defined by the piece-wise tunction

x+2 jfor x<0
f(x)=3-x" for x>0




7. Given f(x) = /25 — x? and g(x) = 5, find (f + g)(x).

(4‘43‘) LGO=4c>20 90 = (a5 ¢ + 5

8. If f(x) = x* - 3x

a. Find f(x + h). b. Find the difference quotient £
FOrtb) = rabiy - 2004h) fow-doy ol 74 — %y 2X
= x?baxbh4 - 2x <2l W V h
" = 2%kl
9. Given f(x) =2x -6 and g(x) = - -
a. Find (fo g)(x) b. Write the domain of (f o g)(x) in interval form.
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10. Given f(x) = - x* + 4x - 5
a. Explain whether the graph of the parabola opens upward or downward.

QR= - Sunle Qk-’éD/L\AAS‘{'L\Q\;gra?L' Q—[ 4&0\

c--C crebola 0pevs doranwen
b. Determine the vetex of the parabola by using the vertex formula.

b = f;; —;ﬁ) =2, ¥=l(2)=-(2)+4(d>"S = — |
VQ,V’"L\LX ('L -—I)

c. Determine the minimum/maximum value of f(x) and where it is achieved?
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11. If f(x) = x* - 9x, find a. The zeros of f(x). b. The end behavior of f(x).
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¢. The maximum number of turning points f(x) can have. \/
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